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0 0 +0.1
L g 0.1 JIs 2 0.2 0.4
NHS 3T 27 12 6 M3X0.5 7 6.5 8 4.5
NHS 4T 31 12 7 MAX0. 7 8 8 9.5 53
NHS 5T 35 16 8 M5X0.8 9 9 i 6
NHS 6T 39 18 9 Mo 1 1 10 13 6.75
NHS 8T 47 22 12 N8 X 1. 25 14 12.5 16 9
NHS 10T 56 26 12 MI0X 1.5 17 15 19 10.5
NHS 12T 65 30 16 M12X1.75 19 17.5 22 12
NHS 14T 74 34 19 W14 2 2 20 2 13.5
NHS 16T 83 38 21 MT6X 2 2 2 27 15
NHS 18T 92 Py 23 MIBX1.5 27 25 31 16.5
NHS 20T 100 46 25 M20 X 1.5 30 27.5 34 18
NHS 227 109 50 28 M22X1.5 32 30 37 20
[#R] [E#MEE]
JeF5a 1 S35C(4EERALIR)
NHSST NHSATSR 5200 T WOBFRTAE
BKTE IR 1 SUJ2 58HRCER A L —
1B ST h7
( R bR =
BRIFAREAFHITRE FEARE ST pb
RHREE T BiEM A RN BE
NIRELS B9 R 51
LLL LA SN
YN iR
FEFRLL
I .
N23-8 THEC ﬁggg;g;&?ﬁﬁi%%ﬁm)\ https://tech.thk.com




A
[
gdi c C [ dl
¢Da/ L
S
4
LW
BT D mm
Rt HRENRR SV BSER | pg
HEuRE
L1 Lz [ d %NHZE?%D& d1 G ol o2 o3 CS
i mm(Z<F) N g
21 3 10 3 9.525(*/s) 7.4 0.3 8 10 42 1570 6.5
24 4 12 4 10. 319 (**/3,) 7.6 0.3 9 1 35 2250 10
27 4 14 5 11.112(/16) 7.7 0.3 8 13 30 3920 16.5
30 5} 14 6 12.7(/2) 9 0.3 8 13 30 5000 25
36 5 17 8 15. 875 (°/s) 10. 4 0.5 8 14 25 7450 43
43 6.5 21 10 19.05(/4) 12.9 0.5 8 14 25 9410 72
50 6.5 24 12 22.225(/s) 15.4 0.5 8 13 25 11000 107
57 8 27 14 25.4(1) 16.9 0.7 10 16 24 15200 160
64 8 33 16 28.575(1'/s) 19.4 0.7 9 15 24 20200 210
71 10 36 18 31.75(1'/4) 21.9 0.7 9 15 24 25200 295
77 10 40 20 34.925(13/5) 24.4 0.7 9 15 24 27800 380
84 12 43 22 38.1(1'/2) 25.8 0.7 10 15 23 35900 490
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